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These questions are for use in the Virginia High School League’s Scholastic Bowl State Championship tournament. Shawn Pickrell, Jason Mueller, Marie Suter, Marian Suter, Adam Fine and Dan Goff are the authors of these questions, which were further reviewed by Pickrell, Fine, Mueller, Suter, Goff, Raj Dhuwalia, Dave Reinstein, Alex Drake, Billy Beyer and Lee Henry. 

These questions may not be released AT ANY TIME to entities outside the tournament, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia. 
First period: 15 tossups, 10 points each

1.
THIS IS A COMPUTATION QUESTION. Solve for x.  12x plus 25 equals 4x minus 15.

ANSWER:  x equals minus 5
2.
Most elements heavier than oxygen are formed by these, whose two types are differentiated by the presence of hydrogen in their spectra, and occur either because a white dwarf accumulates too much nearby matter or because a massive star collapses under its own gravity when fusion stops. The Crab Nebula was formed in 1054 as the result of what massive astronomical event? 

ANSWER: supernovae (accept “supernovas”, but do not accept “novas” or “novae”)

3.
When Lord Henry Wotton saw an extraordinarily beautiful young man, painted by Basil Hallward, Wotton insisted on meeting the subject of Hallward’s painting. During their conversation, Wotton expressed his sadness at the thought that such youth should fade into the ugliness of age, which caused the subject to plummet into melancholy. Name this fantasy novel written by Oscar Wilde.

ANSWER: The Picture of Dorian Gray
4.
It had a 130-foot statue of Nero next to it and was built on the site of his Golden Palace. One historian said 9,000 animals were killed in 100 days to celebrate its opening. Saint Ignatius of Antioch was martyred at what ancient Roman landmark that was built between 72 and 81 AD, could seat 50,000 people and was the site of thousands of gladiator contests?

ANSWER: the Roman Colosseum or Flavian Ampitheatre 

5.
The western coast of Asia Minor is named after this princess because she ran down the coastline to avoid Hera’s gadfly.  A daughter of Inachus (ee-nah-kus), she was targeted by Zeus; Hera knew this, and when Zeus fulfilled his wishes, Hera locked her up and guarded her with the hundred-eyed Argus.  Who was this girl, the ancestor of Heracles, whom Zeus attempted to hide from Hera by transforming her into a white cow?

ANSWER:  Io
6.
In literature, it is the representation of one thing, such as an idea or concept, by something else, usually in concrete form, and is frequently presented as a narrative, such as Pilgrim’s Progress. What is this term?

ANSWER: allegory (accept word forms)

7.
It was written in 1801 and its composer gave it the subtitle “Like a Fantasy.” It was dedicated to his student, the Countess Giulietta (jyoo-lee-EHT-tah) Guicciardi (ghee-CHYAR-dee). Piano Sonata Number 14 in C-sharp minor by Ludwig von Beethoven now has what nickname since Ludwig Rellstab compared its music to Lake Lucerne reflecting nighttime light?

ANSWER: “Moonlight” Sonata (accept Piano Sonata Number 14 on an early buzz)
8.
Galileo built a crude one in 1592 that consisted of a sealed glass tube filled with water, with weights suspended in the water that moved in response to changes in the water’s density. Daniel Fahrenheit invented, in 1714, a more sophisticated version of what device that uses mercury sealed in a glass tube to measure temperature? 

ANSWER: thermometer

9.
This function in C++ must return an integer. If it returns a zero, this indicates the function has terminated successfully. What is this function that is at the "heart" of all C++ programs, and calls all other functions from it?

ANSWER: main function

10.
His ten-year sentence was cut short when he was exchanged for Soviet spy Rudolf Abel in 1962. He received some criticism for not using his airplane’s self-destruct mechanism, but a Congressional committee exonerated him fully. What native of Pound, Virginia, was flying “not high enough” on May 1, 1960, when a surface-to-air missile shot down his U-2 spy plane?

ANSWER: Francis Gary Powers
11.
By 1920, this artist adopted his pseudonym from the surname of his mother’s father.  The influence of Peter Behrens can be found in early works such as 1915’s Domino House.  A partner with his cousin, Pierre Jeanneret (zhen-eh-RAY), who was this architect of the Swiss Pavilion, the Villa Savoye, several buildings in Chandigarh, India; and Notre Dame du Haut?

ANSWER:  Le Corbusier (prompt on “Jeanneret”, but accept it before it is said in the question)

12.
TWO ANSWERS REQUIRED. First names only will be needed. They probably met through his friend Clarence Clay. She never bothered to divorce Roy Thornton. There is no evidence that she killed anyone, but she worked with him and associates such as Raymond Hamilton and W.D. Jones to commit several robberies, kidnappings and murders through the central United States. Buck Barrow was another accomplice of what outlaw couple killed by an ambush staged by Texas and Louisiana policemen on May 23, 1934? 

ANSWER: Bonnie Parker and Clyde Barrow (accept last names, as well)
13.
This man has made twelve arguments before the Supreme Court, all while working as an assistant to the Solicitor General. While at Princeton, he was a member of a group formed in protest to an administrative commitment to coeducational principles and affirmative action.  The US Senate recently confirmed the nomination of what man to replace Sandra Day O'Connor?

ANSWER: Samuel Alito Jr.

14.
Mercury becomes one below 4.2 Kelvin and a chemical with yttrium, barium, copper and oxygen can become one below the relatively warm temperature of 92 Kelvin. BCS theory explains what type of material that does not have electrical resistance? 

ANSWER:  superconductor
15.
This political activist has written books such as Cutting Corporate Welfare, In Pursuit of Justice and Unsafe at Any Speed. Who is this man, probably better-known today as a consumer advocate and Presidential candidate in 1996, 2000 and 2004? 

ANSWER: Ralph Nader
Second period, 10 directed questions per team, 10 points each

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.
The following words were found on an anonymous tombstone in Stowe, Vermont: “I was somebody. Who, is no business of yours.” What is the term for such an inscription?

ANSWER: epitaph
1B.
THIS IS A COMPUTATION QUESTION. Since there are 8 furlongs in a mile, how many yards are in a furlong?

ANSWER:  220 yards
2A.
A December recount showed that what man won the Virginia Attorney General's race by 360 votes over Creigh Deeds?

ANSWER: Robert McDonnell
2B.
The ethmoid bone is in what skeletal structure?

ANSWER:  cranium or skull
3A.
What horseshoe-shaped bone in the throat is not articulated to any other bone?

ANSWER:  hyoid bone

3B.
In the sentence, “Doing a lazy sidestroke toward the raft, Marie felt her worries slip away,” what kind of phrase that often “dangles” is “Doing a lazy sidestroke toward the raft”?

ANSWER:  participle or participial phrase

4A.
THIS IS A COMPUTATION QUESTION.  If Bob has $21, Carol has $14, and Ted has $32, how much money would Alice need for them to average exactly $20?

ANSWER:  $13 (kudos to any players who get the names) 

4B.
Before securing last year’s Republican nomination for Governor, Jerry Kilgore had to get the support of what man, who was Virginia’s last Republican governor?

ANSWER: James (Jim) S. Gilmore
5A.
With what slave woman did Thomas Jefferson allegedly father several children?

ANSWER: Sally Hemings

5B.
An Alford plea is related to what trial plea where a defendant neither admits nor fights against a criminal charge?

ANSWER: nolo contendere or no contest

6A.
In C++, what character starts a line that makes a preprocessor call, where commands such as "include" and "define" are used?

ANSWER: pound sign or number sign 
6B.
Which Canterbury pilgrim would rather give his own money to poor parishoners than demand a tithe?

ANSWER: The Parson
7A.
THIS IS A COMPUTATION QUESTION. What is the volume of a cube with a surface area of 294 square centimeters?

ANSWER:  343 cubic centimeters
7B.
Sculptures of oceanographer Matthew Maury, generals J.E.B. Stuart, Stonewall Jackson, and Robert E. Lee, and tennis player Arthur Ashe can all be found on what street in Richmond, Virginia?

ANSWER:  Monument Avenue
8A.
What author wrote the poem “Ruslan and Ludmila” and the novel Eugene Onegin (oh-nay-ghinn)? 

ANSWER: Alexander Pushkin
8B.
What term is used by the National Weather Service to describe the likelihood of hazardous weather that is less severe than a warning, but more specific than a watch?

ANSWER: weather advisory
9A.
What text, used by churches in the Anglican Communion, provides the proper procedure for worship services and the text of frequently-recited prayers?

ANSWER: Book of Common Prayer
9B.
THIS IS A COMPUTATION QUESTION. With rows being read left to right, what is the determinant of the matrix with top row of 7 and 9 and bottom row of 8 and 10?

ANSWER:  minus 2
10A.
A monopoly is a market where there is only one seller. What name is given to a market where there is only one buyer?

ANSWER: monopsony
10B.
What Virginia Governor, in 1958, ordered Warren County and Lane High Schools to close down in response to federal orders to integrate, an idea that in retrospect, does seem a bit “nutty?”

ANSWER: James Lindsay Almond

Third period, 15 toss-ups, 10 points each
1.
Paleontologists in Germany recently found a new specimen, and determined that its feet closely resembled that of earlier dinosaurs.  What is this late Jurassic animal, often believed to be one of the first birds?

ANSWER: Archaeopteryx [ahr-kee-OP-ter-ix]

2.
THIS IS A COMPUTATION QUESTION.  In simplest terms, what is the probability of rolling a sum of 3 on a fair pair of dice?

ANSWER:  1/18
3.
The Spanish verb hablar (ah-BLAR) has six forms -- hablé (ah-BLAY), hablaste (ah-BLAHS-tay), habló (ah-BLOH), hablamos (ah-BLAH-moas), hablasteis (ah-blah-STAY-ees) and hablaron (ah-BLAH-roan) -- in what tense that is used as a past tense along with the imperfect?

ANSWER: preterite indicative (prompt on “past tense” until it is mentioned)

4.
This book begins with a 23-year old who is about to quit drug addiction and enter a rehab clinic.  The main character quits cold turkey, and even undergoes a root canal without anesthesia by squeezing tennis balls - at least, that's what the author had its readers believe.  Identify this not-so-authentic memoir by James Frey that was named to Oprah Winfrey's Book Club before The Smoking Gun revealed several inaccuracies.

ANSWER:  A Million Little Pieces
5.
During the 1990s, the island of Bougainville (boo-gan-VEEL) attempted to gain independence from this country. Tok (tawk) Pisin (pee-seen) and English are the common languages among the over 700 languages this country's 5 million residents speak. What country's flag contains a bird of paradise and the Southern cross, has a capital of Port Moresby and shares its namesake island with Indonesia?

ANSWER: Papua New Guinea
6.
Three protocols to them have been passed, two in 1977 relating to the victims of conflict and the third in 2005 creating the Red Crystal as an emblem for the Red Cross, Red Crescent and Magen David Adom (MAH-ghen DAH-veed AH-dawm). Properly, there are four of what treaties last revised in 1949 that relate to the proper treatment of non-combatants, the sick and wounded and, of course, prisoners of war?

ANSWER: Geneva Conventions

7.
Correct the error in the following sentence: By the time we found the campsite, the others ate all the hot dogs.

ANSWER: change ate to had eaten (accept equivalents)

8.
Catholics believe that the Triduum (try-DOO-um) is not a part of it, and so Sundays are then counted as part of it. The earliest day it can begin is February 4, and its end is always before April 25. The festival of Carnival (kar-nee-VAL), or Mardi Gras, is before what forty-day period that starts on Ash Wednesday and ends on Easter Saturday, during which people will often give up minor vices?

ANSWER: Lent
9.
After the assassination of Omar Torrijos (toh-REE-hohs) in 1981, he became the de facto leader of his country, fully suppressing opposition after his candidate lost the 1989 presidential election. Despite being a CIA asset in the 1970s, he is today in a Miami federal prison for drug trafficking convictions. In December 1989, the US launched Operation Just Cause to remove what Panamanian ruler from power?

ANSWER: Manuel Noriega

10.
Along with technetium, it is one of the two sub-uranium elements that does not naturally occur on earth. What radioactive lanthanide has atomic number 61 and symbol Pm, and is named for the Titan of Greek myth that brought mankind fire?

ANSWER:  promethium
11.
First name only needed. Her film roles have included Ed Begley Jr.'s wife in She-Devil and the voice of an infant girl in Look Who's Talking Too.  She hosted Saturday Night Live three times, once with her then-husband, but her TV husband, Dan Conner, played by John Goodman, was perhaps better-known.  Who is this actress who starred in her own long-running sitcom about a working-class family in Lanford, Illinois?
ANSWER:  Roseanne (Barr Arnold)

12.
Along with E. Howard Hunt, he broke into Daniel Ellsberg’s psychiatrist’s office. Most of his ideas for plots were rejected, save for breaking into the Democratic National Committee’s headquarters in the Watergate. After leaving prison, what chief operative of Richard Nixon’s White House Plumbers wrote an autobiography, Will, played a supporting role on Miami Vice and is currently the host of a conservative talk show? 

ANSWER: G. Gordon Liddy

13.
The climax of the novel occurs at the trial Brinker Hadley sets up for the book’s narrator, after which the victim breaks his leg again. The victim, Finny, sacrifices his copy of The Iliad in order to start a fire for the winter carnival at Devon School. This occurs in what work of American fiction narrated by Gene Forrester and written by John Knowles?

ANSWER: A Separate Peace
14.
What term from the Greek for “falling from” is used to refer to programmed cell death?

ANSWER:  apoptosis
15.
In this satirical novel, the title character is sent to live with his uncle, the Baron, at his beautiful castle in Westphalia. There, he falls in love with the beautiful daughter of the Baron and is instructed by Pangloss, “the greatest philosopher of the province and therefore of the whole world.” Name this work by Voltaire.

ANSWER: Candide  (kan-deed)

Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.
THIS IS A COMPUTATION QUESTION. What is the indefinite integral of 42x squared?

ANSWER:  14x cubed + C

2.
Initiation of mating in aphids and various plant responses regulated by phytochrome are examples of it.  Flowering is the best-known example of what phenomenon caused by changes in the ratio of light and dark in a 24-hour cycle?

ANSWER:  photoperiodism
3.
In Chaucer’s Canterbury Tales, one finds a number of narratives within the larger narrative. What is the literary term for this type of story?

ANSWER:  a framework story

4.
He was elected for the third time in November, following the introduction of multiparty elections in 1991.  Jack Abramoff offered to arrange a meeting between this man and President Bush in exchange for nine million dollars.  The second and third place finishers have levied allegations of massive voter fraud in the 2005 election, which saw what man elected as President of Gabon, a title he has held since 1967?

ANSWER: Omar Bongo Ondimba

5.
A “pour-over” one of these simply “pours over” property into a trust. A nuncupative (nun-koo-pah-tiv) one is not written, but is instead spoken. A holographic one is hand-written and often does not need witnesses. A living one is usually associated with the decision to continue medical treatment. These are all examples of what legal document, synonymous with testament, by which a person disposes of her or his property after dying?

ANSWER: will (accept testament before it is said)

All questions ©2006 by the question writers. Unauthorized use, as described on the first page of this document, is prohibited.

